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Question Number : 17 Question Id : 68634021379 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30w e BT deT & SR TEd! &1 4IS © | JHIT T &1 AT § 3R wOifd &1 8¢ 8| Rufafad aedai
TPAITTI B2

1. SIfq 23U St g 2|
AT e B AT R

Sifd sodig ot gl g

| ]

faa

N e R 1

4. Jifa dlye &1 ) 81

Options :

68634084465. 1
68634084466. 2
68634084467. 3
68634084468. 4

Question Number : 18 Question Id : 68634021380 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foran ufem 1 3R 57t =eret &, TR 21fe1 gsdl & &R 5 i oiR =il & 1 39 a1% 98 e g gsdl 8
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1. 80 Tt
.65 HI
3.50 4t
4,60 11

Options :

68634084469. 1
68634084470. 2
68634084471. 3
68634084472. 4

| )

Question Number : 18 Question Id : 68634021380 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o ofgrm @1 3R st el §. iR <1fes ot § R 5 it 3R 97l 3 | 39 9IS 98 M alfgs g §
3R 41 Ht el €1 39D a8 98 918 Hdll © X 43 H 90 HEP Wldll | G5 3T T fdg I fopail

8?7

1. 80 Hf
.65 HI
3.50 4t
4.60 11

Options :

68634084469. 1
68634084470. 2
68634084471. 3
68634084472. 4

| ]

Question Number : 19 Question Id : 68634021381 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084473. 1
68634084474. 2
68634084475. 3
68634084476. 4

Question Number : 19 Question Id : 68634021381 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084473. 1
68634084474. 2
68634084475. 3
68634084476. 4

Question Number : 20 Question Id : 68634021382 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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"Sudha bought new bike" @I "ua mv ho ik" ToRAT ST B
"Car and Bike super” Pl ik ne st pu" forar ST B

dl "Darsha Bike Super" PTPC Fafarad @ 9 o s

1. gs ik ne

| )

.as ik pu
3. ho ik as
4. as ik ph
Options :
68634084477. 1
68634084478. 2

68634084479. 3
68634084480. 4

Question Number : 20 Question Id : 68634021382 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 4=y g HEr d
"Darsha bought new car" Pl "as ho mv st" ToRGT STl %I
"Darsha and Sudha siblings" &1 "ua as nc gs" forar ST B
"Sudha bought new bike" @I "ua mv ho ik" ToRAT ST B
"Car and Bike super” I "ik ne st pu" foraT S B |
dl "Darsha Bike Super" &1 P FraferRad o 9 @ g

1. gs ik ne

| ]

.as ik pu
3. ho ik as
4. as ik ph

Options :
68634084477. 1
68634084478. 2



68634084479. 3
68634084480. 4

Question Number : 21 Question Id : 68634021383 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[&il Ush 6 el dTel UTY &1 JHRI Oldl ¢ | SHb [au W1 & 3 &I UIiiddr il

1. 1/2
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—
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Options :

68634084481.
68634084482.
68634084483.
68634084484.

AW N =

Question Number : 21 Question Id : 68634021383 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foelt U 6 Wereh dTel UTd 1 YA Il 6 | S fawH ST & 37 DI Wiidedl gHi

1.1/2

| ]

L 1/3

. 1/6

Lad

4. 1/12

Options :

68634084481.
68634084482.
68634084483.
68634084484,

B W N =

Question Number : 22 Question Id : 68634021384 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084485. 1
68634084486. 2
68634084487. 3
68634084488. 4

Question Number : 22 Question Id : 68634021384 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084485. 1
68634084486. 2
68634084487. 3
68634084488. 4

Question Number : 23 Question Id : 68634021385 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084489. 1
68634084490. 2
68634084491. 3
68634084492. 4

Question Number : 23 Question Id : 68634021385 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084489. 1
68634084490. 2
68634084491. 3
68634084492. 4

Question Number : 24 Question Id : 68634021386 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084493. 1
68634084494, 2
68634084495. 3
68634084496. 4

Question Number : 24 Question Id : 68634021386 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084493. 1
68634084494. 2
68634084495. 3
68634084496. 4

Question Number : 25 Question Id : 68634021387 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084497. 1
68634084498. 2
68634084499. 3
68634084500. 4

Question Number : 25 Question Id : 68634021387 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 2.5 x=0.05 y &, [:z] BT A 1 DI

49
51

e
51

-J

50
51

£, =
51
Options :
68634084497. 1
68634084498. 2
68634084499. 3
68634084500. 4

Part B: Food Science and Technology
Section Id : 686340424
Section Number : 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340700
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634021388 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which disease condition 1s caused due to deficiency of folic acid?

1. Dermatitis

()

. Dementia

. Pernicious anemia

[F¥]

4. Megaloblastic anemia

Options :

68634084501. 1
68634084502. 2
68634084503. 3
68634084504. 4

Question Number : 26 Question Id : 68634021388 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084501. 1
68634084502. 2
68634084503. 3
68634084504. 4
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Question Number : 27 Question Id : 68634021389 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Accordmg to the "My Plate for the Day” by National Institute of Nutrition-India, arrange the following food
groups in correct sequence (highest to lowest proportion of intake)

A, Vegetables

B. Cereals and nutricereals

C. Pulses. egg and flesh foods
D. Fats and oils

E. Fruits

1.LAB.D.E.C

()

-E;D; B, C, A
3.AB.E.C.D

4. A, B, C.D.E

Options :

68634084505. 1
686340845006. 2
68634084507. 3
68634084508. 4

Question Number : 27 Question Id : 68634021389 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084505. 1
68634084506. 2
68634084507. 3
68634084508. 4

Question Number : 28 Question Id : 68634021390 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is primarily used for the preparation of texturized vegetable protein?

1. Bengal gram

2

. Soyabean

T

. Pumpkin

4. JTaclkfruit

Options :

68634084509. 1
68634084510. 2
68634084511. 3
68634084512. 4

Question Number : 28 Question Id : 68634021390 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafeREd I 4 foae! S9aiT @ 30 3 Caarlgols aedid UIeH &1 g1 & (o fohar &l &
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. Hag
4. ®cgd

Options :

68634084509. 1
68634084510. 2
68634084511. 3
68634084512. 4
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Question Number : 29 Question Id : 68634021391 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Regular consumption of Khesan dal causes
1. Favism
2. Goitre

. Lathyrism

]

4. Cyamde poisoning

Options :

68634084513. 1
68634084514. 2
68634084515. 3
68634084516. 4

Question Number : 29 Question Id : 68634021391 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WUR &Td & it Y94 3 w1 gl 82
1. Bfawm
3P|
i
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Options :

68634084513. 1
68634084514. 2
68634084515. 3
68634084516. 4
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Question Number : 30 Question Id : 68634021392 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: During corn milling. complete germ removal 1s important.

Reason R: Germ in corn contains high percentage of fat which reduces its shelf life.

In the hight of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

()

.Both A and R are true but R is NOT the correct explanation of A

. A 1s true but B 1s false

Laa

4. A is false but R 1s true

Options :

68634084517. 1
68634084518. 2
68634084519. 3
68634084520. 4

Question Number : 30 Question Id : 68634021392 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084517. 1
68634084518. 2
68634084519. 3
68634084520. 4

-

Question Number : 31 Question Id : 68634021393 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the steps of rice milling process n correct sequence.

A. Packaging

B. Cleaning & hulling
C. Polishing

D. Milling

E. Grading and sorting

Choose the correct answer from the options given below:
1L.E,B,C.D,A
2oB; Dy B A
3.B.C.D.E.A

4D.E.B.C.A

Options :

68634084521. 1
68634084522. 2
68634084523. 3
68634084524. 4

Question Number : 31 Question Id : 68634021393 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
59 [T (=@ &1 U Ui &1 Tgl H
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B. YBTg 3R faem! e
C. GrferRiT
D. fome (e
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- fau U fawedl § 9 w6l SR 9

1.E,B,C.D. A

2.B.D.C.E.A
3B, C.D,EA

4.D,E,B,C,A

Options :

68634084521. 1
68634084522. 2
68634084523. 3
68634084524. 4



Question Number : 32 Question Id : 68634021394 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which non-enzymatic browning reaction 1s involved m the browning of citrus juice?

1. Caramelization

[

. Maillard reaction
3. Ascorbic acid oxidation
4. Lipid browning

Options :

68634084525. 1
68634084526. 2
68634084527. 3
68634084528. 4

Question Number : 32 Question Id : 68634021394 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IECd 5 & ST H D 4l IR-UsgH! saf- ufdisan i &
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Options :

68634084525. 1
68634084526. 2
68634084527. 3
68634084528. 4
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Question Number : 33 Question Id : 68634021395 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The colour of fruits containing anthocyanins ranges from

1. Purple to red

[ )

. Red to orange

s

. Deep blue to purple

b

. Deep blue to bright red



Options :

68634084529. 1
68634084530. 2
68634084531. 3
68634084532. 4

Question Number : 33 Question Id : 68634021395 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084529. 1

68634084530. 2

68634084531. 3
68634084532. 4
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Question Number : 34 Question Id : 68634021396 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The carliest use of chocolate dates back to which ancient civilization?

1. Persian

[

. Egyptian

. Indian

L ¥]

4, Olmec

Options :

68634084533. 1
68634084534. 2
68634084535. 3
68634084536. 4

Question Number : 34 Question Id : 68634021396 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dldpeic T Had Ygal IUan e U 3 9 g3 3|
1. PR

i

3. HRGE

4, TeHlP

Options :

68634084533. 1
68634084534. 2
68634084535. 3
68634084536. 4
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Question Number : 35 Question Id : 68634021397 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statement: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Whipping of cream refers to the beating of eream to produce foam.

Reason R: These foams are produced when air cells are surrounded by thin film of fat droplets, which are
stabilized by the film of protein.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

()

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 15 not correct but E 15 correct

Options :

68634084537. 1
68634084538. 2
68634084539. 3
68634084540. 4

Question Number : 35 Question Id : 68634021397 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084537. 1
68634084538. 2
68634084539. 3
68634084540. 4
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Question Number : 36 Question Id : 68634021398 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The sandiness defect in 1ce-cream 1s caused due to which of the following reason?

1. Temperature abuse

()

. Inappropriate quantity of sugar

L%}

. Crystallization of lactose

4. High saturated fat content

Options :

68634084541. 1
68634084542. 2
68634084543. 3
68634084544. 4

Question Number : 36 Question Id : 68634021398 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084541. 1
68634084542. 2
68634084543. 3
68634084544. 4

Question Number : 37 Question Id : 68634021399 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The egg shell 13 primarily made up of

1. Calcium carbonate

[

. Magnesnun carbonate

L]

. Phosphorus pentoxide

4. Polysaccharide

Options :

68634084545. 1
68634084546. 2
68634084547. 3
68634084548. 4

Question Number : 37 Question Id : 68634021399 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634084545. 1
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68634084546. 2
68634084547. 3
68634084548. 4

Question Number : 38 Question Id : 68634021400 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the predominant fraction present in myofibrillar proteins:

1. Myosin

2

. Actin

s

. Tropomyosin
4. Troponin

Options :

68634084549. 1
68634084550. 2
68634084551. 3
68634084552. 4

Question Number : 38 Question Id : 68634021400 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrAfeREd I 8 &1 51 At ieaeR ieH o Aiee WiE 39 6:
1. AT
- qfde

)

%

4. TIUIAA
Options :
68634084549. 1
68634084550. 2
68634084551. 3
68634084552. 4

Question Number : 39 Question Id : 68634021401 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following flesh foods contamn highest level of fat?

1. Beef

()

. Mutton
3. Pork

4, Lamhb

Options :

68634084553. 1
68634084554. 2
68634084555. 3
68634084556. 4

Question Number : 39 Question Id : 68634021401 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
[Frafee o ¥ (g aren are yar 1 991 &1 Sw=aH ¥R 6141 82
IRIIEIR

US/ddil BT HY

| ]

Lad

IR B

4. B (43 &I &= ) BT HH

Options :

68634084553. 1
68634084554. 2
68634084555. 3
68634084556. 4

Question Number : 40 Question Id : 68634021402 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The beneficial effects of dietary fish are due to the presence of

1. Large amount of protein

()

. Large amount of SFAs
3. Large amount of MUFAs

4. Large amount of omega-3 fatty acids

Options :
68634084557. 1
68634084558. 2



68634084559. 3
68634084560. 4

Question Number : 40 Question Id : 68634021402 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M aTelt A & aHERI gHE Y @ SR & sRU Bl B
1. STE1 °E § UidE

. STa] HET H SFA

| ]

_SOTe] 5 H MUFA

[ 5]

4. SUTET HET H SHTHA 3- GHYH 3k

Options :

68634084557. 1
68634084558. 2
68634084559. 3
68634084560. 4

Question Number : 41 Question Id : 68634021403 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What type of solution is needed for crystallization of sugar?

1. Saturated solution

[

. Unsaturated solution

L]

. Supersaturated solution

4. Superunsaturated solution

Options :

68634084561. 1
68634084562. 2
68634084563. 3
68634084564. 4

Question Number : 41 Question Id : 68634021403 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-t & fopeclinur & (AU {5y UeR & Uid &t Aawgddl gl a2
. g grd

. SifoRigw |

4. Hfderdqu Ui

[r—y

| ]
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Options :

68634084561. 1
68634084562. 2
68634084563. 3
68634084564. 4

Question Number : 42 Question Id : 68634021404 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the processing steps of candy making in correct sequence.
A Cooking
B. Packaging
C. Mixing
D. Moulding
E. Cutting

Choose the correct answer from the options given below:

1.LAC,D.E.B

[ S

CGAGE DB
3.A,C,E,D,B

4.C,AD.E.B

Options :

68634084565. 1
68634084566. 2
68634084567. 3
68634084568. 4

Question Number : 42 Question Id : 68634021404 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H ST g9 & =0 BT e Y HT &
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D. AT
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.C,AE.D.B

LA.C.E.D.B

faa

4. C.AD.E.B

Options :

68634084565. 1
68634084566. 2
68634084567. 3
68634084568. 4

Question Number : 43 Question Id : 68634021405 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heating of o1l causes a breakdown in its molecular structure and 1s referred as

1. Hydrolysis

()

. Pyrolysis

[F¥]

. Polymeric decomposition

4. Oxidation

Options :

68634084569. 1
68634084570. 2
68634084571. 3
68634084572. 4

Question Number : 43 Question Id : 68634021405 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J9 I T B Bt . foog 39t Muifds SRa1 &1 f3ued 81 9ia1 8. 39 $ed &

I ESSTIGIRSES|
BIL RIS

3. OIdHR 3qded
4, JTF BT

Options :

68634084569. 1
68634084570. 2
68634084571. 3
68634084572. 4

| ]

Question Number : 44 Question Id : 68634021406 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statement: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Oxidative rancidity primarily occurs in unsaturated fatty acids.

Reason R: It happens due to the presence of lipoxygenase in foods and hydroperoxides are formed that
produces smaller volatile compounds responsible for the rancid odours.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

()

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R 1s false

4. A s false but B 1s true

Options :

68634084573. 1
68634084574. 2
68634084575. 3
68634084576. 4

Question Number : 44 Question Id : 68634021406 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084573. 1

68634084574. 2

68634084575. 3
68634084576. 4

[ )

i

s

Question Number : 45 Question Id : 68634021407 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 18 INCORRECT with respect to hard wheat:

1. Fragmentation of the endosperm tends to oecur along with the lines of the cell boundaries

()

. Yields very fine flour
3. Used for making breads

4. Has higher gluten content

Options :

68634084577. 1
68634084578. 2
68634084579. 3
68634084580. 4

Question Number : 45 Question Id : 68634021407 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BB IG & oy H FEfEd O € & 91 &Y= 0d 6
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Options :

68634084577. 1
68634084578. 2
68634084579. 3
68634084580. 4

| ]

Question Number : 46 Question Id : 68634021408 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following protemn fractions are present in higher amounts in wheat germ than in endosperm?

A. Albumin
B. Globulin
C. Prolamin
D. Glutelins
E. Puromdolins

Choose the most appropriate answer from the options given below:

1. A and B only

[ S

.B and C only
3.D and E only

4. C. D and E only

Options :

68634084581. 1
68634084582. 2
68634084583. 3
68634084584. 4

Question Number : 46 Question Id : 68634021408 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrAfREad O 9 19 91 I 2 USRad &1 ga1 8 75 & o o i gen g giar 3:
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C. WieieA
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E. Rigsifad
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B 3R C &ad
3.D 3R E &ad

4.C.D IR EHad

[ ]

Options :

68634084581. 1
68634084582. 2
68634084583. 3
68634084584. 4

Question Number : 47 Question Id : 68634021409 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Curdling of batter 1s a common fault during the cake batter making process. What could NOT be the reason?

1. Eggs added too quickly and sufficient time not given for emulsification

()

. Batter mixed at a very high speed

3. Ingredients at different temperatures

s

. Improper sieving of ingredients

Options :

68634084585. 1
68634084586. 2
68634084587. 3
68634084588. 4

Question Number : 47 Question Id : 68634021409 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B dcX g DI Uil B SR de BT Bl U I N 08T ¢ | 5961 991 BRUI ol &l 9&Hdl 872
33 9gd Sed] B SR grEiieRv (gafeaithe ) & iU ugie 9oy =8l ¢

. §ex 9gd a9l 7T H &
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3. QI BT -3 dTIH= U= g

A, IR & @A

Options :

68634084585. 1
68634084586. 2
68634084587. 3
68634084588. 4

Question Number : 48 Question Id : 68634021410 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cake can NOT be decorated using which one of the following mngredient?

1. Royal 1cing

()

. Lazy suzanne
3. Sugar balls

4. Chocolate wafers

Options :

68634084589. 1
68634084590. 2
68634084591. 3
68634084592. 4

Question Number : 48 Question Id : 68634021410 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafaiad # U 59 318 U Sa & ol Aol off 9l o:
T TSR
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Options :
68634084589. 1
68634084590. 2



68634084591. 3
68634084592. 4

Question Number : 49 Question Id : 68634021411 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The bleachng and maturing agents are used m the preparation of cake flour.

Reason R: Because. they reduce the stabilizing interactions between starch and proteins as well as between
starch and lLipids.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correet but R is correct

Options :

68634084593. 1
68634084594. 2
68634084595. 3
68634084596. 4

Question Number : 49 Question Id : 68634021411 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084593. 1
68634084594. 2
68634084595. 3
68634084596. 4

| ]



Question Number : 50 Question Id : 68634021412 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following factors increase the egg white foam stability?

A Dilution of egg white with water
B. Salting

C. Addition of acid

D. Addition of sugar

E. Addition of fat

Choose the correct answer from the options given below:

1. A and B only

[ ]

.B, C and D only
3.Cand D only

4. A, C and E only

Options :

68634084597. 1
68634084598. 2
68634084599. 3
68634084600. 4

Question Number : 50 Question Id : 68634021412 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafaiad & U &1 9 SRS SIS & 9bhe I Y 84 B (JIF) &1 R H guR $dl o:
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Options :
68634084597. 1
68634084598. 2
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68634084599. 3
68634084600. 4

Question Number : 51 Question Id : 68634021413 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To obtam tender pie crust. what proportion of flour. fat and water should be used from the following:

1. 7:3:2

()
=4
%]
—_

L]
e
[
Y]

4. 6:2:1

Options :

68634084601. 1
68634084602. 2
68634084603. 3
68634084604. 4

Question Number : 51 Question Id : 68634021413 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084601. 1
68634084602. 2
68634084603. 3
68634084604. 4

Question Number : 52 Question Id : 68634021414 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI
{(Microbial spoilage in fruits
and vegetables)

LISTIT

(Causative agent)

A |Bacterial soft rot I. |Phvtophthora
B. [Watery soft rot II. |Erwinia carotovora
C. Downyv mildew III. |Fusarium
: . |Sclerotinia
D. |Stem-end rots IV cai
scLeroliorim

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-IV, D-II

[ )

CA-L B-IV, C-II1, D-II

. A-IL. B-IV, C-1. D-III

T

4. A-IIL. B-III. C-I. D-IV

Options :

68634084605. 1
68634084606. 2
68634084607. 3
68634084608. 4

Question Number : 52 Question Id : 68634021414 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II1. B-1. C-IV, D-II

-

CA-T B-IV. C-IIIL D-II
3. A-II. B-IV, C-1, D-III

4. A-IT. B-II. C-1. D-IV

Options :
68634084605. 1



68634084606. 2
68634084607. 3
68634084608. 4

Question Number : 53 Question Id : 68634021415 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the concentration of sodium benzoate which 15 added to preserve fruit juice?

1. 1%

2

.0.1%

. 0.01%

s

4.0.001%

Options :

68634084609. 1
68634084610. 2
68634084611. 3
68634084612. 4

Question Number : 53 Question Id : 68634021415 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wl & T I GRI&d 3@+ & foqy fea Tifsay dsiiue foreman o & 2

1. 1%

)

. 0.1%

.0.01%

Lad

4. 0.001%

Options :

68634084609. 1
68634084610. 2
68634084611. 3
68634084612. 4

Question Number : 54 Question Id : 68634021416 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



From the following options, in what ways can the starch be used as?

A. Thickening agent

B. Binding agent

C. To form moulded gel (gelling agent)
D. Emulsifying agent

E. Foaming agent

Choose the correct answer from the options given below:

1. Aand C only

(R

.A. B and E only
3. A Band Conly

4. A, B and D only

Options :

68634084613. 1
68634084614. 2
68634084615. 3
68634084616. 4

Question Number : 54 Question Id : 68634021416 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgferad Aedl 8w & f9 dve Iuan & 51 9%l 6.
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Options :

68634084613. 1
68634084614. 2
68634084615. 3
68634084616. 4



Question Number : 55 Question Id : 68634021417 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term 'radurization’ 1s used for what kind of treatment by the use of radiation?
1. Blanching
2. Pasteurization

. Sterilization

L]

4. Desprouting

Options :

68634084617. 1
68634084618. 2
68634084619. 3
68634084620. 4

Question Number : 55 Question Id : 68634021417 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faferor RTSTRA) & TR ¥ {659 YR & SUER & [0 YTSRIgeINE" ag &1 YT a1 &l 52
1. AT

 JIERIZSIEH

R SNIEE R

4. fsamsfdn

Options :

68634084617. 1
68634084618. 2
68634084619. 3
68634084620. 4

| )

T

Question Number : 56 Question Id : 68634021418 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The bright green colour of green leaty vegetables turns olive brown durmg the cooking process. This 1s due to
the formation of which of the following compound?

1. Pheophytin

()

. Pheophorbide

L]

. Chlorophyllin

4. Chlorophorbide

Options :

68634084621. 1
68634084622. 2
68634084623. 3
68634084624. 4

Question Number : 56 Question Id : 68634021418 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@I GBT 1 Uiehd] & SR 831 TaR Hiestdl 1 g 81 31 Wig & I 43 311 gad A1dl 61 39D
frmfor &1 R E:

1. TrawEieT
rueReEs
3. AR e
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Options :

68634084621. 1
68634084622. 2
68634084623. 3
68634084624. 4
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Question Number : 57 Question Id : 68634021419 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Compared to conventional heat processing. microwave processing has a greater effect on food
composition.

Reason R: Because. microwave processing 1s influenced by the dielectric properties of food.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

()

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 15 not correct but B 1s correct

Options :

68634084625. 1
68634084626. 2
68634084627. 3
68634084628. 4

Question Number : 57 Question Id : 68634021419 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084625. 1
68634084626. 2
68634084627. 3
68634084628. 4

)

faa

s

Question Number : 58 Question Id : 68634021420 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements:
Statement I: Refrigeration takes less energy to cool a food to just above its freezing point then to freeze it.

Statement II: Refrigerated produets have to be thawed before use - a process that may take as long as 48 hours
in case of large frozen foods.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct

()

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement 11 1s incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634084629. 1
68634084630. 2
68634084631. 3
68634084632. 4

Question Number : 58 Question Id : 68634021420 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i ST P fRu e

@ 1. YhoReH 1 [l @ uard 1 38 f5uie fog 9 die W 381 3 8 &0 Gl aildl &
ol 38 oHH H |

BYA I1: FIIRT S 8§ U5l 9 WhoRes Idral S oo (un) gsdl 8- U [fsbar forgd 93 o gu
el Yeruf o T1Y 48 ¥e do &1 999 & Idhdl e

QRIS HYH & 3fTelie H, 1= 13T U fdh el § 9 Tad Sugad I &1 99 SIS
1. P I 3R HUT 11T T8 ©

Y 1 3R U 11 T e 8T §

3. BUF 1 96! 6. Alferd HYA 11 7Tad &

4. FY 17T0d &, Qb HYF I T8l o
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Options :

68634084629. 1
68634084630. 2
68634084631. 3
68634084632. 4

Question Number : 59 Question Id : 68634021421 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Food products) LIST II (Pasteurizt;:;iz;l temperature and
A |lce-cream I. |64.5°C for 2.5 min

B. [Liquid egg IL |88°C for 15 sec

C. [Fruit juice [T |65-68°C for 20 min

D. [Beer IV. [80°C for 15 sec

Choose the correct answer from the options given below:

1. A-TIIL. B-IV, C-II, D-I

[

CA-L B-IILL C-IV, D-II

. A-IL B-IIL. C-IV, D-I

T

4. A-IV, B-1. C-1II, D-II

Options :

68634084633. 1
68634084634. 2
68634084635. 3
68634084636. 4

Question Number : 59 Question Id : 68634021421 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 g 11 ¥ fie
= 1@ TR HEl- I (UG 0T daTaaT $fR 99a

)
A [smEspE I |sasecos e s fom
B. [ A3l 11 [38°C for 15 Udhg o faQ
C. [Fai@ 3T  |IL |65-69°C for 20 A & fomw
D. [fR IV. [s0°C for 15 Tdis & oW
=i fau 7Tu fasedl # 9 98! SR 9T

1. A-ITL. B-IV, C-II. D-I

[ )

A-L. B-III. C-IV. D-II

AT B-IILL C-TIV, D-I

[ ¥]

4. A-IV, B-1. C-III, D-II

Options :

68634084633. 1
68634084634. 2
68634084635. 3
68634084636. 4



Question Number : 60 Question Id : 68634021422 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

IAEL LISTII
(Ionizing radiation (Action)
dose) Action
A o310 107 rads I. [|Sprouting inhibition in potatoes, onions, carrot ete.
B. 103 to 10° rads II. [Dose is lethal for humans
C. 103 to 10? rads I[II. PMicroorganisms are killed
D. 10% to 107 rads IV [Insects are killed

Choose the correct answer from the options given below:
1. A-IIL. B-IV, C-I, D-II
2. A-II. B-I. C-IV, D-III
3. A-L B-II. C-III. D-IV
4. A-III, B-1. C-IV, D-II

Options :

68634084637. 1
68634084638. 2
68634084639. 3
68634084640. 4

Question Number : 60 Question Id : 68634021422 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 191 = 11 ¥ e Sifse

T = 0
st Yewem o .
LCRIE

A 1034 F 107 rads I |3, @re, TTTeR 3G H S Ry
B. [10% T 10° rads 11 R 29H1 & foT 91ded o

C. ]10° ¥ 104 rads 1L [g&9 ol AR oI1d &

D. [102 T 107 rads IV. [Ble I 8

frafetad fawedl & T 96l SR &1 90 Sy ;

1. A-ITL. B-IV, C-1. D-II

| ]

CA-ITL B-1. C-IV, D-ITI
3. A-L, B-1I, C-III. D-IV

4, A-III B-I. C-IV. D-II

Options :

68634084637. 1
68634084638. 2
68634084639. 3
68634084640. 4

Question Number : 61 Question Id : 68634021423 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I: Dielectric energy induces molecular friction in water molecules to produce heat in food
processing/preservation.

Statement II: Infrared energy 1s produced by the electrical resistance of food.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

()

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement IT 1s incorrect

Lad

4. Statement [ 1s incorrect but Statement I1 1s correct

Options :

68634084641. 1
68634084642. 2
68634084643. 3
68634084644. 4



Question Number : 61 Question Id : 68634021423 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A Py R U E:
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3. BUA 1 Ha! 5. il HYF 11 7TAd &

4. BYA 17704 3, A PUYF I Fs! 5

Options :

68634084641. 1
68634084642. 2
68634084643. 3
68634084644. 4

| ]

Question Number : 62 Question Id : 68634021424 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one option denotes the composition of a fruit squash?
. 30% concentrated fruit juice + 45% sugar
1. 30° trated fruit 45% sug
2. 25% strained fruit juice + 45% sugar
3. 25% fruit juice + 65% sugar
4. 20% fruit pulp + 63% sugar

Options :

68634084645. 1
68634084646. 2
68634084647. 3
68634084648. 4

Question Number : 62 Question Id : 68634021424 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 A1 TF faded e Whodl ®1 T I a2idl 5

1. 30% T (B S) Ball DI I + 45% =T

| ]

. 25% B 1 Ball BT IH + 45% AT
3. 25% Pal o1 TH + 65% A1
4. 20% Wil BT TET+ 65% AT

Options :

68634084645. 1
68634084646. 2
68634084647. 3
68634084648. 4

Question Number : 63 Question Id : 68634021425 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTT (Iypent LIST II (Source)
beverage)
A Toddy I. |Cereal grains
B. [Fum Il |Palm tree
C. |Beer I11. [Cashew/apple juice
D. [Fenny IV Puice of sugarcane or molasses

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV, D-III

(R

ATV, B-II, -1, D-II

CA-IIIL B-ILL C-IV, D-1

Lad

4. A-II. B-IV, C-I. D-III

Options :

68634084649. 1
68634084650. 2
68634084651. 3
68634084652. 4

Question Number : 63 Question Id : 68634021425 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 191 = 11 ¥ e Sifse
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B. kg I [suE @ us
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| ]

CA-TV, B-ITTL C-1, DI

AL B-I1L C-IV, D-1

L5 ]

4. A-II. B-IV. C-I. D-III

Options :

68634084649. 1
68634084650. 2
68634084651. 3
68634084652. 4

Question Number : 64 Question Id : 68634021426 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Staling of bread occurs faster at a temperature range of
1. -2°C to —3°C
2.1t04°C

Ol O

L%

&R Cito -3¢

Options :

68634084653. 1
68634084654. 2
68634084655. 3
68634084656. 4

Question Number : 64 Question Id : 68634021426 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[T AUaM R §S S LT (TSGR 8T ol 9 5T &;

1. -2°C to =3°C

[ )

1t04°C
3.0to-1C

4.-18°Cto-23"C

Options :

68634084653. 1
68634084654. 2
68634084655. 3
68634084656. 4

Question Number : 65 Question Id : 68634021427 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT used to attain activated dough development process?

1. L-cysteine

()

. Potassium bromate

[F¥]

. Hydrogen peroxide

4. Ascorbic acid

Options :

68634084657. 1
68634084658. 2
68634084659. 3
68634084660. 4

Question Number : 65 Question Id : 68634021427 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634084657. 1
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68634084658. 2
68634084659. 3
68634084660. 4

Question Number : 66 Question Id : 68634021428 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps of straight dough system in correct order.

A Proofing
B. Moulding
C. Knock back after resting

D. Intermediate proofing
E. Mxing & dough kneading

Choose the correct answer from the options given below:

1.LE,.C.A,B.D

[ S

B, C, D, B A
J.JEB.D.AC

4. E.A C.D.B

Options :

68634084661. 1
68634084662. 2
68634084663. 3
68634084664. 4

Question Number : 66 Question Id : 68634021428 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e S Ren H 391U O ardl =Rl &1 o | T
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4. E.A.C.,D.B



Options :

68634084661. 1
68634084662. 2
68634084663. 3
68634084664. 4

Question Number : 67 Question Id : 68634021429 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I: Red colour crumb of the dark bread 1s caused by Geotrichum auranticum.
Statement II: Watery soft rot is due to Bacillus licheniformis.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4, Statement I 1s false but Statement II 1s true

Options :

68634084665. 1
68634084666. 2
68634084667 3
68634084668. 4

Question Number : 67 Question Id : 68634021429 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIEC\CRIC ACR I
@Y I S (T8X) 9IS & Chs Bl Ald 1 [orifcan SRICHH & SR Bl o
B I1: dled] Hite e ARy AghHpIity & PR 5
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4. TYF 17TTd ©, A U 18T §

Options :

68634084665. 1
68634084666. 2
68634084667. 3
68634084668. 4
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Question Number : 68 Question Id : 68634021430 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I: Hard wheat flour with 11.5 - 14.0% protein 18 desirable for making white bread.

Statement II: Soft wheat flour with 2-4% protein content 1s suitable for making chemically leavened baked
products having more tender structure.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I 1s false but Statement II 1s true

Options :

68634084669. 1
68634084670. 2
68634084671. 3
68634084672. 4

Question Number : 68 Question Id : 68634021430 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084669. 1
68634084670. 2
68634084671. 3
68634084672. 4

Question Number : 69 Question Id : 68634021431 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the chemicals used for bleaching of wheat flour.

A, Chlorine dioxide

B. Potassium metabisulphite
C. Benzoyl peroxide

D. Acetone peroxide

E. Calcium oxalate

Choose the correct answer from the options given below:
1. A. B. C only
2.B.D.E only
3.A C.E only

4. A, C,Donly

Options :

68634084673. 1
68634084674. 2
68634084675. 3
68634084676. 4

Question Number : 69 Question Id : 68634021431 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g & AT B sl (T e) B & (AU ggad THEH! S Tg=r Hifed:

A, TR SIE3Es

B. UI¥0H Aediguedhige
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Options :

68634084673. 1
68634084674. 2
68634084675. 3
68634084676. 4
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Question Number : 70 Question Id : 68634021432 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are the functions of fat for making biscuits and cookies?

A Leavening

B. Shortening agent
C. Binding agent
D. Palatability

E. Chelating agent

Choose the correct answer from the options given below:

1. B, D and E only

| ]

.A. Cand E only
3.B, C and D only

4. A. B and D only

Options :

68634084677. 1
68634084678. 2
68634084679. 3
68634084680. 4

Question Number : 70 Question Id : 68634021432 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafeRad 4 9 o fotge SR $ois SaA A a9 & $H &
A WafT
B. TIICHHT Tofe
C. SI5fST uole
D. Tfey (Yaifaferd)
E. fdfén uoje
- feu U fawedl © 9§ 981 3R IHT
1.B.D & E had
2.A. C & E dad
3.B.C & D &hdd

4. A.B & D Had

Options :
68634084677. 1
68634084678. 2




68634084679. 3
68634084680. 4

Question Number : 71 Question Id : 68634021433 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the full-from of MAP m active packagmg technology?

1. Maximal Active Packaging

[ E]

. Modified Atmospheric Packaging

]

. Modified Active Packaging
4. Mixed Atmospheric Packaging

Options :

68634084681. 1
68634084682. 2
68634084683. 3
68634084684. 4

Question Number : 71 Question Id : 68634021433 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i (Ueia) U o Wrelifiest & unud &1 quf 9 &1 32
1. Bfdae ufdeg U
4. firas wenifepaie tasfom

Options :

68634084681. 1
68634084682. 2
68634084683. 3
68634084684. 4

| ]
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Question Number : 72 Question Id : 68634021434 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chemical sterilization for the packagimg film can be done through which of the followmg method?
1. Treatment with hydrogen peroxide and then keeping packaging film at freezing temperature
2. Treatment with sodimum hypochlorite and then giving a tap water rinse
3. Treatment with glycol at low temperature

4. Treatment with glycol at high temperature

Options :

68634084685. 1
68634084686. 2
68634084687. 3
68634084688. 4

Question Number : 72 Question Id : 68634021434 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084685. 1
68634084686. 2
68634084687. 3
68634084688. 4

Question Number : 73 Question Id : 68634021435 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the most important objective of mner packaging / secondary packaging.
1. Mamtammg portion size

2. Increase the merchandise value

L%}

. Easy identification and handling

4. Protection of goods against water vapour, light and heat

Options :
68634084689. 1
68634084690. 2



68634084691. 3
68634084692. 4

Question Number : 73 Question Id : 68634021435 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084689. 1
68634084690. 2
68634084691. 3
68634084692. 4

Question Number : 74 Question Id : 68634021436 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What colour symbol 1s used to identify animal origin food?
1. Green
2. Brown
3.Red

4, Black

Options :

68634084693. 1
68634084694. 2
68634084695. 3
68634084696. 4

Question Number : 74 Question Id : 68634021436 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Pl

Options :

68634084693. 1
68634084694. 2
68634084695. 3
68634084696. 4

Question Number : 75 Question Id : 68634021437 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: MAP extends the shelf life of cut red meat.

Reason R: Carbon dioxide is used in MAP to maintain the red color of oxymyoglobmn in meat.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R 15 not correct

4. A 1s not correct but B is correct

Options :

68634084697. 1
68634084698. 2
68634084699. 3
68634084700. 4

Question Number : 75 Question Id : 68634021437 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬁﬁﬁmﬁqw% U AMBYUT (Assertion A) F 39 H [ARET § G THI IUD BRI (Reason R)P ¥U

HfUHYT A: THUU ¢ §U T 1Y 1 Ued A DI ggral & |

PRUIR: A9 H ATGTAEaiiea & dd 37 ] 9410 Wa & (60 THTU | Hle- S5 a9ss &1 3udi
ERIE I

QWIS DY & 3Telie H, = f3u U fadedi § ¥ 9 Sugad Ik &I 90 SIfey
1. A 3R R &I gl § 3N R. A B Ug! IR §
2. A 3R R T U8 § SRR, A T U IR T §
AT R AT R IR AET @
4 AT B AP RUE B

Options :

68634084697. 1
68634084698. 2
68634084699. 3
68634084700. 4

Question Number : 76 Question Id : 68634021438 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the functions of packaging.

A, Contamment
B. Machinability
C. Protection

D. Convenience
E. Value addition

Choose the correct answer from the options given below:
1. A, C. D only
2.B,C.D.E only
3. C, D, E only

4. A B, C.Donly

Options :

68634084701. 1
68634084702. 2
68634084703. 3
68634084704. 4

Question Number : 76 Question Id : 68634021438 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634084701. 1
68634084702. 2
68634084703. 3
68634084704. 4
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Question Number : 77 Question Id : 68634021439 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Polvmer) (Voluntary codes)
A [HDPE I B
B. [PETE I |3
C. pPVC I |2
D. [LDPE IV |1

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

()

. A-IIL B-IV., C-II, D-I

CA-IILL B-ILL C-IV, D-I

[F¥]

4. A-IIIL B-1. C-IV, D-II

Options :

68634084705. 1
68634084706. 2
68634084707. 3
68634084708. 4



Question Number : 77 Question Id : 68634021439 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
It 1 o1 9= 11§ e Sifse
T 1 (ufeftR) “Fﬁlfﬁm“a'%ﬂi

A [cgdidis I W
B [digdls I3
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1. A-I, B-II. C-II1, D-IV

| ]

AL B-IV, C-I1, D-I

. A-IILL B-IIL C-IV, D-I

L

4. A-IIL. B-I. C-IV. D-II

Options :

68634084705. 1
68634084706. 2
68634084707. 3
68634084708. 4

Question Number : 78 Question Id : 68634021440 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During drying. the rate of heat transfer 1s calculated using the following formula:

1. O=Ah(6,—0,)

| ]

. O=h A0, -05)

T

. Q=hA(B;-8/)
4. Q=Ah(0;-0,)

Options :

68634084709. 1
68634084710. 2
68634084711. 3
68634084712. 4

Question Number : 78 Question Id : 68634021440 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Q = J'I_qh[en - B.’i‘)

-2

L O=h A0, —0y)

[F5]

LO=h AB;-04)

4, 0= Ah(0,-0,)

Options :

68634084709. 1
68634084710. 2
68634084711. 3
68634084712. 4

Question Number : 79 Question Id : 68634021441 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the prime application of conveyor dryer (belt type dryer):

1. Flash drying

2

. Fluidized - bed drying
3. Foam mat dryimng
4. Freeze drying

Options :

68634084713. 1
68634084714. 2
68634084715. 3
68634084716. 4

Question Number : 79 Question Id : 68634021441 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634084713. 1



68634084714. 2
68634084715. 3
68634084716. 4

Question Number : 80 Question Id : 68634021442 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST ] LISTII
(Method of R iplscatini)
drying/concentration) pphication
A Bpray drving I. High quality solid foods
B [Freeze-drying II. [Heat-sensitive liquids
C. [Vacuum drying IT1. |Small sized solid foods
D [Fluidized bed drying IV |Liquids, low viscosity paste, purees

Choose the correct answer from the options given below:

1. A-IV. B-1I, C-1. D-III

[

CA-IL B-IL C-IV. D-III
3. A-II. B-III. C-IV, D-I

4. A-TIV, B-1, C-II. D-III

Options :

68634084717. 1
68634084718. 2
68634084719. 3
68634084720. 4

Question Number : 80 Question Id : 68634021442 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV, B-IL, C-I. D-III

| ]

CA-TTL B-IL C-IV. D-III

CA-IL B-II1L C-IV, D-1

Lad

4. A-IV. B-1. C-II. D-1II

Options :

68634084717. 1
68634084718. 2
68634084719. 3
68634084720. 4

Question Number : 81 Question Id : 68634021443 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The formation of a tiny ordered particle due to the association of water molecules which act as an active site
tor erystal growth takes place during stage.

1. Pre-cooling
2. Super - cooling
3. Nucleation
4. Tempering

Options :

68634084721. 1
68634084722. 2
68634084723. 3
68634084724. 4

Question Number : 81 Question Id : 68634021443 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084721. 1

68634084722. 2

68634084723. 3
68634084724. 4
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Question Number : 82 Question Id : 68634021444 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Freeze cracks are seen i foods that are frozen employing which of the following freezing technique?

1. Air freezing

()

. Contact freezing
3. Immersion freezing
4. Cryogenic freezing
Options :
68634084725. 1
68634084726. 2

68634084727. 3
68634084728. 4

Question Number : 82 Question Id : 68634021444 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634084725. 1
68634084726. 2
68634084727. 3
68634084728. 4

Question Number : 83 Question Id : 68634021445 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: Quick freezing is carried out at a temperature - 17.8°C to - 46.6°C for 30 minutes. It does not
damage the food structure.

Reason R: Quick freezing results in the formation of smaller ice-crystals which will not break down the cell
wall.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ )

. Both A and R are true but R 1s NOT the correct explanation of A

. A 1s true but R 1s false

L]

4. A 1s false but R 15 true

Options :

68634084729. 1
68634084730. 2
68634084731. 3
68634084732. 4

Question Number : 83 Question Id : 68634021445 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634084730. 2
68634084731. 3
68634084732. 4

Question Number : 84 Question Id : 68634021446 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps of canning of foods n appropriate sequence.

A Processing and cooling

B. Selection of raw material and grading
C. Washing and peeling

D. Blanchmg and filling

E. Exhausting and capping
Choose the correct answer from the options given below:

1.B.E.C.A.D

[ S

.B,;D,C,E A
3.B,C,D,E A

4B . A D.E.C

Options :

68634084733. 1
68634084734. 2
68634084735. 3
68634084736. 4

Question Number : 84 Question Id : 68634021446 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084733. 1
68634084734. 2
68634084735. 3
68634084736. 4

Question Number : 85 Question Id : 68634021447 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Pectin 1s an oligosaccharide present in middle lamella of plant cells.

Statement II: The softening of fruit tissues on maturity i1s caused by conversion of protopectin to pectin.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement [ 1s incorrect but Statement II 1s correct

Options :

68634084737. 1
68634084738. 2
68634084739. 3
68634084740. 4

Question Number : 85 Question Id : 68634021447 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084737. 1
68634084738. 2
68634084739. 3
68634084740. 4
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Question Number : 86 Question Id : 68634021448 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I: Hydrogen swell is a type of spoilage found i canned foods caused by the action of food with. the
iron of the can.

Statement II: Tt 15 mostly seen in foods with pH ranging between 5.3 and 4.5.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

()

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I1 1s incorrect

4. Statement [ 15 incorrect but Statement II 1s correct

Options :

68634084741. 1
68634084742. 2
68634084743. 3
68634084744. 4

Question Number : 86 Question Id : 68634021448 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ST PuE fRr e
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Options :

68634084741. 1
68634084742. 2
68634084743. 3
68634084744. 4
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Question Number : 87 Question Id : 68634021449 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Prolonged boiling 1s often a cause of jelly failure.

Statement II: Prolonged boiling 1s associated with flavour loss, colour loss and pectin hydrolysis.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement [ 1s incorrect but Statement II 1s correct

Options :

68634084745. 1
68634084746. 2
68634084747. 3
68634084748. 4

Question Number : 87 Question Id : 68634021449 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
< 2 By RY L &
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Options :

68634084745. 1
68634084746. 2
68634084747. 3
68634084748. 4

| ]

Question Number : 88 Question Id : 68634021450 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements:

Statement I: The amount of mvert sugar m a finished good quality jam should be 30-50%.

Statement II: If invert sugar 1s greater than 50% in finished jam. sugar will get crystallized.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement [ is incorrect but Statement IT 1s correct

Options :

68634084749. 1
68634084750. 2
68634084751. 3
68634084752. 4

Question Number : 88 Question Id : 68634021450 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-itd &l By QLU &
@Y I; 331 T[UTa dTail oiF § gd¢ PR &1 9131 30-50% g1 9|
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Options :

68634084749. 1
68634084750. 2
68634084751. 3
68634084752. 4

Question Number : 89 Question Id : 68634021451 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which year 1s/was marked as an 'International year of Millets'?
1.2021

2.2022

4. 2020

Options :

68634084753. 1
68634084754. 2
68634084755. 3
68634084756. 4

Question Number : 89 Question Id : 68634021451 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forg aef o1 firdte @1 SiRTia o & vu & Fifea faar man @2
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4.2024

Options :

68634084753. 1
68634084754. 2
68634084755. 3
68634084756. 4

Question Number : 90 Question Id : 68634021452 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following has been recognized as a 'non-permitted colour’ by FSSAI?
1. Annatto
2. Tartrazine
3. Rhodamine

4. Indigo carmine

Options :

68634084757. 1
68634084758. 2
68634084759. 3



68634084760. 4

Question Number : 90 Question Id : 68634021452 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafarad 3 © (5 FSSAI §RI TR- 3Hd 31 & 39 § g/ 71 87

1. QoI
GG

~

Options :
68634084757. 1
68634084758. 2

68634084759. 3
68634084760. 4
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Question Number : 91 Question Id : 68634021453 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT : Match the clause of ISO 22000:2005 with its heading

LIST I (Sub-clause) LIST II (Heading)
A2 I. |Establishing the HACCP plan
B |58 II. [Food safetv policy
C |76 IT1. |Prerequisite programmes (PRP's)
D p2 IV PManagement review

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

)

CA-IL B-IV, C-1, D-III
3. A-L B-IL. C-IIL. D-IV
4. A-IIT, B-1. C-IV, D-II

Options :

68634084761. 1
68634084762. 2
68634084763. 3
68634084764. 4

Question Number : 91 Question Id : 68634021453 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL. B-IV, C-I, D-II

| )

CA-IL B-IV. C-1, D-III

. A-I. B-IL. C-II1. D-IV

L% ]

4. A-ITT. B-1. C-IV, D-II

Options :

68634084761. 1
68634084762 2
68634084763. 3
68634084764. 4

Question Number : 92 Question Id : 68634021454 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does HACCP stands for?
1. Hazard Analysis Complete Control Point
2. Hazard Analysis Control Critical Point

. Hazard Analysis Critical Control Point

L]

4. Hazardous Attributes Complete Control Point

Options :

68634084765. 1
68634084766. 2
68634084767. 3
68634084768. 4

Question Number : 92 Question Id : 68634021454 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084765. 1
68634084766. 2
68634084767. 3
68634084768. 4

Question Number : 93 Question Id : 68634021455 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the direct cost due to food safety accidents?

1. Losses in production

[

. Emergency medical care

L]

. Time spent on regulatory worl/tasks

4. Cost of tramning for replacement worker

Options :

68634084769. 1
68634084770. 2
68634084771. 3
68634084772. 4

Question Number : 93 Question Id : 68634021455 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634084769. 1
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68634084770. 2
68634084771. 3
68634084772. 4

Question Number : 94 Question Id : 68634021456 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange five out of seven HACCP principles in correct sequence.

A Establish record keeping and documentation procedures
B. Establish corrective action procedures

C. Determine eritical control points

D. Conduct hazard analysis

E. Establish monitoring procedures

Choose the correct answer from the options given below:

1LAB,C,D,E

[ S

D,A,B,E,C
3.0,C,E, B; A

4B A C.E.D

Options :

68634084773. 1
68634084774. 2
68634084775. 3
68634084776. 4

Question Number : 94 Question Id : 68634021456 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084773. 1
68634084774. 2
68634084775. 3
68634084776. 4

Question Number : 95 Question Id : 68634021457 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s an 1deal tune to perform sensory analysis?

1. 10 am to 12 noon

2

.9 amto 10 am

T

. 12 noon to 2 pm

4. 2 pm to 4 pm

Options :

68634084777. 1
68634084778. 2
68634084779. 3
68634084780. 4

Question Number : 95 Question Id : 68634021457 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e P 10T 12§

[—

| B

ag H 9T 10§
T B 129290

A QHPB 2T 4T

Lad

Options :

68634084777. 1
68634084778. 2
68634084779. 3
68634084780. 4

Question Number : 96 Question Id : 68634021458 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s NOT a type of 'ditference’ sensory test?

1. Paired comparison test

()

. Duo trio test
3. Triangle test

4. Monadic test

Options :

68634084781. 1
68634084782. 2
68634084783. 3
68634084784. 4

Question Number : 96 Question Id : 68634021458 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084781. 1
68634084782. 2
68634084783. 3
68634084784. 4
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Question Number : 97 Question Id : 68634021459 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a reason for testing food quality?

1. To promote sale of unsafe food

()

. To devise marketing strategies for unsafe food
3. To hide the bad qualities of food

4. To determine the safety of food for consumption

Options :
68634084785. 1
68634084786. 2



68634084787. 3
68634084788. 4

Question Number : 97 Question Id : 68634021459 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084785. 1
68634084786. 2
68634084787. 3
68634084788. 4
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Question Number : 98 Question Id : 68634021460 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following instrument 1s used to predict the amount of water to be added to the flour to get
consistent texture of the dough during mixing?

1. Farmograph

()

. Extensograph

Laa

. Alveograph

s

. Amylograph

Options :

68634084789. 1
68634084790. 2
68634084791. 3
68634084792. 4

Question Number : 98 Question Id : 68634021460 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634084789. 1
68634084790. 2
68634084791. 3
68634084792 4
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Question Number : 99 Question Id : 68634021461 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A XRD 1. |Pasting parameters
B [FTIR 1I. |Glass transition
C. [DSC IT1. [Functional group
D [RVA IV |Crystallmity

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

| ]

. A-IV. B-IIL C-11.L D-I
3. A-IV, B-1I. C-III. D-I
4. A-IV, B-1. C-1I. D-III

Options :

68634084793. 1
68634084794. 2
68634084795. 3
68634084796. 4

Question Number : 99 Question Id : 68634021461 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

[ ]

CA-TV, B-ITT, C-I1, D-I

CA-IV, B-IL C-I11, D-I

L V]

4. A-IV, B-1. C-11, D-III

Options :

68634084793. 1
68634084794. 2
68634084795. 3
68634084796. 4

Question Number : 100 Question Id : 68634021462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Microorganisms can NOT be detected in a food sample by which of the following method/technique?
1. SPC
2. MPN
3.PCR
4. PV

Options :

68634084797. 1
68634084798. 2
68634084799. 3
68634084800. 4

Question Number : 100 Question Id : 68634021462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. UHYTTA
3. 07T R
4. dr 4t

Options :

68634084797. 1
68634084798. 2
68634084799. 3
68634084800. 4




